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1. Identify the class interval table for the given frequency polygon.
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Class-Interval s— s

Class-Interval |33 -41|42-50|51-59|60-68|69-77|78-86
Frequency 17 36 36 36 44 22

(i)

Class-Interval |33 -41(42-50|51-59|60-68|69-77|78-86

i
o Frequency 17 22 36 33 44 36

Class-Interval |33-41(42-50|51-59|60-68|69-77|78 -86
Frequency 17 36 40 33 44 22

(iii)

Class-Interval |33 -41(42-50|51-59|60-68|69-77 |78 -86

iv
() Frequency 17 36 36 33 44 22




2. Identify the class interval table for the given frequency polygon.
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30 39 48 57 66 75 84 93 102

Class-Interval  s——a—3

Class-Interval |39 - 48 |48 - 57|57 - 66|66 - 75|75 - 84|84 - 93
Frequency 11 11 45 31 12 26

Class-Interval |[39-48|48-57|57-66|66-75|75-84|84 -93

i
(i Frequency 11 26 43 31 12 11

(i) Class-Interval |39 - 48|48 - 57|57 -66 |66 -75|75-84|84-93
iii

Frequency 11 26 45 31 12 11

(iv) Class-Interval |39 - 48|48 -57|57-66|66-75|75-84|84-93
v

Frequency 11 26 45 36 12 11

Class-Interval [39-48(48-57|57-66|66-75|75-84|84-93

Frequency 11 45 26 31 12 11




Given frequency polygon showing the number of heart patients at various age groups, identify the class interval
" table.

4
—100

—380

—80

30

No. of heart patients
!
=

B /ﬁi—i‘i Ax\EN
o | Y N ||

325 425 525 625 725 825 925 1025 1125 1225

Age (in years) s———n

L

Age (in years) 43-52|53-62(63-72|73-82(83-92|93-102/103-112
No. of heart patients| 23 25 10 30 26 5 15

Age (in years) 43-52|53-62|63-72|73-82|83-92|93-102|103-112

i
(i No. of heart patients| 23 25 5 34 26 5 15

Age (in years) 43-52|53-62(63-72|73-82(83-92|93-102|103-112
No. of heart patients| 23 25 5 30 26 5 15

(iii)

Age (in years) 43-52(53-62|63-72|73-82|83-92|93-102|103-112
No. of heart patients| 23 15 5 30 26 5 25

(iv)

Age (in years) 43-52|53-62(63-72|73-82|83-92(93-102|103-112
No. of heart patients| 23 5 25 30 26 5 15




Given frequency polygon showing the number of heart patients at various age groups, identify the class interval
" table.
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Age (in years) s———n

Age (in years) 41-48|48-55|55-62|62-69|/69-76|76-83|83-90
No. of heart patients 14 30 9 24 19 28 10

(i)

Age (in years) 41 -48(48-55|55-62(62-69|69-76|76-83(83-90
No. of heart patients 14 10 9 24 19 28 30

(if)

Age (in years) 41 -48|48-55|55-62|62-69|/69-76|76-83|83-90
No. of heart patients 14 9 10 24 19 28 30

(iii)

Age (in years) 41-48|48-55|55-62(62-69|69-76|76-83(83-90
No. of heart patients 14 10 9 26 19 28 30

(iv)

Age (in years) 41 -48|48-55|55-62|62-69/69-76|76-83|83-90
No. of heart patients 14 10 13 24 19 28 30

(v)




5. Heights of 162 students (in cm) are given below. Identify the class interval table for the given frequency polygon.

No, of students

(i)

(i)

(iii)

(iv)

Y
~100
|
|
----- 90
|
[
----- 80
|
|
----- 70
|
|
----- B0
|
[
----- 50
|
! /
40
| \
_____ |3g ." o "(
| { AT LA
_____ i N/
|
_____ H / \
/ \
¥
1201125 113011351140 11451150 1 1550} |
A8 3 i A R
Height (in cm) s———s—
Height (in cm) [125-130|130-135|135-140|140- 145|145 - 150
No. of students 41 32 19 27 43
Height (in cm) |125-130|130-135|135-140|140- 145|145 -150
No. of students 41 16 32 27 43
Height (in cm) [125-130|130-135|135-140|140- 145|145 - 150
No. of students 41 19 32 27 43
Height (in cm) |125-130(130-135|135-140|140 - 145|145 - 150
No. of students 41 19 27 27 43
Height (in cm) [125-130|130-135|135-140|140 - 145|145 - 150
No. of students 41 43 32 27 19




6. Heights of 235 students (in cm) are given below. Identify the class interval table for the given frequency polygon.

Y

No, of students
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(iii)
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Height (in cm)
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122 -130

131-139

140 - 148

149 - 157

158 - 166

167 - 175

176 - 184
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Height (in cm)

122 -130

131-139

140 - 148

149 - 157

158 - 166

167 - 175

176 - 184

No. of students

11
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Height (in cm)

122 -130

131-139

140 - 148

149 - 157

158 - 166

167 - 175

176 - 184

No. of students

11

38
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Height (in cm)

122 -130

131-139

140 - 148

149 - 157

158 - 166

167 - 175

176 - 184

No. of students

11

27
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38

Height (in cm)

122 -130

131-139

140 - 148

149 - 157

158 - 166

167 - 175

176 - 184

No. of students

11

38

36

39

39
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27




7. Heights of 218 plants (in cm) are given below. Identify the class interval table for the given frequency polygon.
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45 155 | 65| 75 | 85 | 95 105|115 [125]135]145

Height (in cm) s———»

Height (in cm) |55-65|65-75|75-85|85-95|95-105/105-115|115-125|125-135
No. of plants 39 35 31 48 37 14 5 9

(i)

Height (in cm) |55-65|65-75|75-85(85-95(95-105|105-115|115-125|125-135
No. of plants 39 35 31 48 33 14 5 9

(if)

Height (in cm) [55-65|65-75|75-85|85-95|/95-105|105-115|115-125|125-135
No. of plants 39 35 27 48 37 14 5 9

Height (inecm) |55-65|65-75|75-85/85-95(95-105|105-115|115-125|125-135
No. of plants 39 9 31 48 37 14 5 35

Height (in cm) |55 -65|65-75|75-85(85-95|95-105|/105-115|115-125|125-135
No. of plants 39 35 48 31 37 14 5 9




8. Heights of 260 plants (in cm) are given below. Identify the class interval table for the given frequency polygon.
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Height (in cm) s———»
(i Height (incm) (61 -69|70-78|79-87|88-96|97-105|106-114|115-123|124-132
i
No. of plants 35 22 44 19 7 45 47 37
(i) Height (incm) |61 -69|70-78|79-87|88-96|97-105|106-114|115-123(124-132
i
No. of plants 35 22 19 44 11 45 47 37
(i) Height (incm) (61 -69|70-78|79-87|88-96|97-105|106-114|115-123|124-132
iii
No. of plants 35 22 44 19 11 45 47 37
(iv) Height (incm) |61-69|70-78|79-87|88-96|97-105|106 - 114|115-123|124-132
iv
No. of plants 35 22 41 19 11 45 47 37
W) Height (incm) (61 -69|70-78|79-87|88-96|97-105|106-114|115-123|124-132
v
No. of plants 35 37 44 19 11 45 47 22




9. Ages of 220 students (in years) are given below. ldentify the class interval table for the given frequency polygon.
Y

No, of students
{n
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3 11927 35 43 51 B9 6775

Age (in years) s——sp

Age (in years) |11-19|19-27|27-35|35-43|43-51|51-59|59-67

0 "No. of students| 33 46 34 16 26 31 38

Age (in years) |11-19(19-27|27-35|35-43|43-51|51-59|59-67
No. of students 33 38 34 12 26 31 46

(if)

Age (in years) |11-19|19-27|27-35|35-43|43-51|51-59|59-67

iii
(i) No. of students 33 34 46 12 26 31 38

Age (in years) |11-19|19-27|27-35/35-43|43-51|51-59|59-67

(V) 'No. of students| 33 46 34 12 26 31 38

Age (in years) (11-19|19-27|27-35|35-43|43-51|51-59|59-67
No. of students 33 46 32 12 26 31 38




10. Ages of 230 students (in years) are given below. Identify the class interval table for the given frequency polygon.
T

No, of students
o
L]

15 |95 175 255 [335] 4151495 [575(655 735|815

Age (in years) s——

Age (inyears) [10-17|18-25|26-33|34-41|42-49|50-57|58-65|66-73
No. of students 22 44 36 6 44 30 15 33

Age (in years) |10-17|18-25|26-33|34-41|42-49|50-57|58-65|66-73
No. of students | 22 33 34 6 44 30 15 44

Age (in years) |[10-17|18-25|26-33|34-41|42-49|50-57|58-65|66-73
No. of students| 22 33 36 6 44 30 15 44

Age (in years) |[10-17|18-25(26-33|34-41|42-49|50-57|58-65|66-73
No. of students 22 33 6 36 44 30 15 44

Age (in years) (10-17|18-25/26-33|34-41(42-49|50-57|58-65|66-73
No. of students 22 33 36 6 39 30 15 44




11. Scores of 199 students are given below. Identify the class interval table for the given frequency polygon.
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S5core  e—ap
Score 89-96|96-103/103-110(110-117(117-124|124-131|131-138|138-145
No. of students 6 35 42 43 14 37 19 6
Score 89-96(96-103|103-110|110-117|117-124|124-131|131-138|138-145
No. of students 6 35 37 43 11 37 19 6
Score 89-96/96-103(103-110(110-117|117-124|124-131|131-138|138-145
No. of students 6 35 42 43 11 37 19 6
Score 89-96|/96-103|103-110|110-117|117-124|124-131|131-138|138-145
No. of students 6 35 43 42 11 37 19 6
Score 89-96(96-103/103-110|110-117|117-124|124-131|131-138|138-145
No. of students 6 6 42 43 11 37 19 35




12. Scores of 187 students are given below. Identify the class interval table for the given frequency polygon.

No, of students

(i)

(if)

(iii)
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SCOrg st
Score 75-80|81-86|87-92|93-98/99-104|105-110|111-116
No. of students 46 22 2 12 46 22 34
Score 75-80(81-86(87-92(93-98(99-104|105-110|111-116
No. of students 46 5 22 12 46 22 34
Score 75-80|81-86|87-92/93-98/99-104|105-110|111-116
No. of students 46 22 5 12 46 22 34
Score 75-80(81-86(87-92/93-98(99-104|105-110|111-116
No. of students 46 34 5 12 46 22 22
Score 75-80(81-86|87-92|93-98/99-104|105-110|111-116
No. of students 46 22 5 10 46 22 34




13. Rainfall of 104 days (in mm) are given below. Identify the class interval table for the given frequency polygon.
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Rainfall (in mm) s———ap
(i Rainfall (in mm) | 6-13|13-20|20-27|27-34|34-41
i
No. of days 20 15 21 40 5
(i) Rainfall (in mm)|6-13|13-20|20-27|27-34|34-41
1
No. of days 20 5 21 40 18
(i) Rainfall (in mm) |6 - 13|13-20|20-27|27-34|34-41
iii
No. of days 20 18 24 40 5
(iv) Rainfall (in mm) |6 -13|13-20(20-27|27-34|34-41
iv
No. of days 20 18 21 40 5
W) Rainfall (in mm)|[6-13|13-20(20-27(27-34|34-41
%
No. of days 20 21 18 40 5




14. Rainfall of 133 days (in mm) are given below. Identify the class interval table for the given frequency polygon.
Y

No. of days

15| 65 [14.5]225 | 305385465 545

Rainfall (in mm) s———ap

Rainfall (in mm) |7 -14|15-22|23-30|31-38|39-46
No. of days 17 40 30 33 11

Rainfall (in mm)|7-14|15-22(23-30|(31-38|39-46
No. of days 17 42 30 33 11

Rainfall (in mm) |7 -14|15-22|23-30|31-38|39-46
No. of days 17 42 25 33 11

(iii)

Rainfall (in mm)|7-1415-22(23-30|31-38|39-46

iv
() No. of days 17 11 30 33 42

Rainfall (in mm) |7 -14|15-22|23-30|31-38(39-46
No. of days 17 30 42 33 11




Temperatures of 156 days (in °C) are given below.
" Identify the class interval table for the given frequency polygon.
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Temperature (in degree) s———3
Temperature (in degree) |29-37(37-45(45-53|53-61|61-69|69-77
No. of days 43 25 31 20 6 31
Temperature (in degree) |29-37|37-45|45-53|53-61|61-69|69-77
No. of days 43 31 29 20 6 31
Temperature (in degree) [29-37(37-45|45-53|53-61|61-69(69-77
No. of days 43 31 25 20 6 31
Temperature (in degree) |29-37|37-45|45-53|53-61|61-69|69-77
No. of days 43 31 25 18 6 31




Temperatures of 197 days (in °C) are given below.
" Identify the class interval table for the given frequency polygon.

Y

No. of days

| e

205 | 285 | 36,5 |44.5]525 | 605

685|765 [84.5 | 92,5 [1005]

(i)

(if)

(iii)

Temperature (in degree) s——a2p

Temperature (in degree) |29 -36(37-44(45-52|53-60|61-68|69-76|77-84|85-92
No. of days 18 47 7 7 25 32 27 34
Temperature (in degree) |29-36|37-44|45-52(53-60|61-68|69-76|77-84|85-92
No. of days 18 34 7 7 22 32 27 47
Temperature (in degree) |29-36(37-44|45-52|53-60|61-68(69-76|77-84|85-92
No. of days 18 34 7 7 25 32 27 47
Temperature (in degree) |29-36|37-44|45-52|53-60|61-68|69-76|77-84|85-92
No. of days 18 34 3 7 25 32 27 47




17. Weights of 232 students (in kg) are given below. Identify the class interval table for the given frequency polygon.
T

No, of students
o
L]

451153 61l 69 | 77 85 1193 1101 1109 {117 125

Weight (in kg) s———x

Weight (in kg) |53-61/61-69|69-77|77-85|85-93(93-101|101-109|109-117
No. of students 39 43 35 48 11 19 11 26

Weight (in kg) [53-61|61-69/69-77|77-85|85-93/93-101|101-109|109-117
No. of students| 39 26 48 35 11 19 11 43

Weight (in kg) (53-61(61-69|69-77|77-85|85-93/93-101|101-109/109-117
No. of students 39 26 30 48 11 19 11 43

Weight (in kg) (53-61|61-69|69-77|77-85(85-93(93-101|101-109|109-117
No. of students 39 26 35 48 9 19 11 43

Weight (in kg) |53-61/61-69|69-77|77-85|85-93(93-101|101-109|109-117
No. of students 39 26 35 48 11 19 11 43




18. Weights of 222 students (in kg) are given below. Identify the class interval table for the given frequency polygon.
T

No, of students
v
[==]

el

505|565 | 625 | 685 745|805 | 865 | 925 | 985

Weight (in kg) s——

Weight (in kg) |57 -62|63-68|69-74|75-80|81-86|87-92
No. of students 43 41 48 37 43 10

Weight (in kg) (57 -62|63-68|69-74|75-80|81-86|87-92

ii
(i No. of students 43 10 48 37 43 41

Weight (in kg) |57 -62|63-68|69-74|75-80|81-86|87-92
No. of students| 43 41 48 35 43 10

(iii)

Weight (in kg) |57 -62|63-68|69-74|75-80|81-86|87-92

iv
(iv) No. of students 43 41 50 37 43 10

Weight (in kg) |57 -62|63-68|69-74|75-80|81-86|87-92
No. of students 43 48 41 37 43 10

(v)




Daily wages of 169 labourers (in X) are given below.
" Identify the class interval table for the given frequency polygon.

Y

No. of labourers

]

| e

222 1227 11232 | 237
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| 247 1252

257|262 |

267 | 212

Daily wage (in Rs)

—

Daily wage (in
Rs)

227 - 232

232 - 237

237 - 242

242 - 247

247 - 252

252 - 257

257 - 262

262 - 267

No. of labourers

22

31

31

10

7

11

21

41

(if)

Daily wage (in
Rs)

227 - 232

232 - 237

237 - 242

242 - 247

247 - 252

252 - 257

257 - 262

262 - 267

No. of labourers

22

31

26

10

9

11

21

41

(iii)

Daily wage (in
Rs)

227 - 232

232 - 237

237 - 242

242 - 247

247 - 252

252 - 257

257 - 262

262 - 267

No. of labourers

22

31

26

10

7

11

21

41

(iv)

Daily wage (in
Rs)

227 - 232

232 - 237

237 - 242

242 - 247

247 - 252

252 - 257

257 - 262

262 - 267

No. of labourers

22

31

10

26

7

11

21

41

(v)

Daily wage (in
Rs)

227 - 232

232 - 237

237 - 242

242 - 247

247 - 252

252 - 257

257 - 262

262 - 267

No. of labourers

22

41

26

10

7

11

21

31




Daily wages of 190 labourers (in X) are given below.
" Identify the class interval table for the given frequency polygon.

Y
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Daily wage (in RS) s——a
0 Daily wage (in | 67 - 273|274 - 280| 281 - 287 | 288 - 294| 295 - 301 | 302 - 308| 309 - 315|316 - 322
|
No. of labourers 8 12 17 44 12 11 34 50
(i Daily wage (in 1267 - 273|274 - 280| 281 - 287 | 288 - 204295 - 301 | 302 - 308|309 - 315 | 316 - 322
1l
No. of labourers 8 12 44 19 12 11 34 50
i) Daily wage (in 1567 - 273|274 - 280 | 281 - 287 | 288 - 294 295 - 301 | 302 - 308 | 309 - 315 316 - 322
11
No. of labourers 8 12 19 44 12 11 34 50
) Daily wage (in | 267 - 273|274 - 280 | 281 - 287 288 - 294|295 - 301| 302 - 308|309 - 315 | 316 - 322
v
No. of labourers 8 12 19 44 14 11 34 50
w Daily Rage (in 1567.273/274-280|281 - 287|288 - 294|295 - 301|302 - 308|309 - 315|316 - 322
\"
No. of labourers 8 50 19 44 12 11 34 12




Assignment Key
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